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gt 251.3 13.5 201.0 1.0 191.0 9.0 36.8 231.5 207.5 84.54 16.20
2L AR 24.0 1.0 18.0 - 17.0 1.0 5.0 25.0 16.5 78.26 38.00
TR AR 14.0 - 12.0 - 8.0 4.0 2.0 7.0 7.0 85.71 -
Hrdbstn AR 29.5 - 25.0 - 25.0 - 4.5 27.5 28.5 84.75 -
BKEE 7 A e 29.3 2.0 23.0 - 23.0 - 4.3 43.0 33.5 84.40 26.74
Wit 5 AR 10.0 1.5 8.0 - 8.0 - 0.5 8.0 8.0 94.12 18.75
RS wapra 4.0 2.0 2.0 - 2.0 - - 2.5 5.5 100.00 -
2t AR 24.3 -0.5 20.0 - 20.0 - 4.8 16.0 21.5 80.81 -
[E2f e uapra o 8.0 1.0 6.0 - 6.0 - 1.0 2.0 2.5 85.71 25.00
ALt AR 4.5 1.5 2.0 - 2.0 - 1.0 6.0 7.0 66.67 8.33
B 7S Pra 9.3 - 8.0 - 8.0 - 1.3 13.0 8.0 86.49 38.46
T IR 5.0 - 4.0 - 4.0 - 1.0 3.0 3.0 80.00 -
B AR 8.0 1.0 4.0 - 4.0 - 3.0 15.0 15.5 57.14 3.33
SR T AR 29.0 2.0 25.0 - 23.0 2.0 2.0 26.0 18.5 92.59 36.54
LEET=b U D7 T 17.8 - 17.0 - 15.0 2.0 0.8 8.0 8.0 95.77 -
= VR AR - - - - - - - - - - -
SR 7 AR 16.0 1.0 13.0 - 13.0 - 2.0 15.5 8.0 86.67 54.84
BRI ERE - - - - - - - 2.0 1.0 - 50.00
AEH 7 AR 6.3 - 6.0 1.0 5.0 - 0.3 3.0 4.0 96.00 -
HREM 7 7ERE 3.0 - 2.0 - 2.0 - 1.0 3.0 3.0 66.67 -
Rl T AT 9.5 1.0 6.0 - 6.0 - 2.5 6.0 8.5 70.59 -
LN U s - - - - - - - - - - -
5 EAERIHIRER(%6) 31.54 -15.63 53.14 -33.33 57.85 2.86 -16.00 -9.57 -2.12 9.54* -7.24*
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